Name

Write and solve a proportion to answer the problem.

y

3)

5)

7)

9)

ﬁ/? Siitr S

Date

TN - Finding Percents of a Number

What number is 20% of 40?
[?]

42 is 60% of what number?
[70)

40% of what number is 15?

[375 ]

What percent of 75 is 277

g—

| 5% ]

Of the 360 runners at a 5-kilometer race, 20%
are in the 35-39 age bracket. How many
runners at the 5-kilometer race are in the 35—
39 age bracket?

S
‘ |
i 72 ronners \

2)

4)

6)

8)

10)

17 is what percent of 687

[75% ]

P

What number is 150% of 927

[735 |

em————

24 is 0.6% of what number?

/#0600 |

55% of what number is 33?

jeo)

ESEwm—

You pay $3.69 for a gallon of gasoline. This is
90% of the price of a gallon of gasoline one
year ago. What was the price of a gallon of
gasoline one year ago?



Write and solve an equation to answer the problem.

11) 24 is what percent of 607 12) What number is 70% of 1207

/7]

13) 30 is what percent of 120? 14) 112 is 56% of what number?

-~

|27 | [729]

15) What number is 140% of 45? 16) 15 is 6% of what number?
—  ——
2= | 250 |
ﬂfﬂ; e ——

17) There are 35 competitors in a marathon. 18) Your class is going on a field trip. Twenty-four
Sixty percent of these finished the race in students have turned in their permission slips
under four hours. How many competitors so far. This is 80% of the students in the class.
finished the race in under four hours? How many students are in the class?

e

| 2/ conpetites )

e s EEEE———————













Name

At synt S

Example

How much interest will you pay in the 2.5 year

Date

!@g — Simple Interest

You borrow money a period of 2.5 years at a rate of 15% each year? i’ 5000

How much do you have to totally pay back?

period?
S
B /875 f 875
Complete the following:
Principal | Rate | Time Interest
$450 |8% |36months | H 8
Principal | Rate | Time Interest
$900 | 20% | 3 months 25
Principal | Rate | Time Interest
$700 10% | 18 months | £ /05
Principal | Rate | Time Interest Total (Balance)
$1500 | 10% |6months | £ 75 BI575




Principal | Rate | Time Interest Total (Balance)
$3500 |8% |3months | F 70 # 2570
Principal | Rate Time Interest

$150 7 % | 6 years $18

Principal | Rate Time Interest

$940 7 % | 25years |$164.50

Principal | Rate Time Interest

$600 4% 2 973 $72

-




Principal | Rate Time Interest
9) $1450 8% /.5;7;’5 $174

or /814(04'//4/\5'

10) Ms. Dutta borrowed $800 for a period of 2 years. He is to pay interest at a rate of 9% a year. How
much interest will he have to pay?

Frov

11) Ms. Yob found out that she has to pay $500 in interest on her loan. She totally forgot how much she
borrowed. However, she does know that the interest rate was 5% for 5 years. Please help Ms. Yob
find out how much her loan was.

Hzo00












pp. 376-377 #7-14, 18-20

7. a. (22,152), (40,94), (28, 134), (35,

10.

11.

12.

o

o o 0

110), (46, 81);

Yi
R R
e .
w120
c [ ]
S 100 3
;E B0 .
» &0
o 40
[«

20

-
5 10 15 20 25 30 35 40 45x
Average price

. As the average price of jeans

increases, the number of pairs of
jeans sold decreases.

. 2011
. about 875 SUVs

negative linear relationship
3.5h

. $85

There is a positive linear relationship between
hours worked and earnings.

negative linear relationship; outlier at
(15, 10), gap between x-values of 15
to 25 and y-values of 23 to 33

nonlinear relationship; no outliers,
gaps, or clusters

no relationship; no obvious outliers,
gaps, or clusters



13.
14.

positive linear relationship

a. positive linear relationship

b. The more time spent studying, the better the
test score.

18. 2

19.
20.

14.

15.

19.
20.
21.
22.

Input Output

(—4)
ol
[}-.
2 A 8
4 -
6 A
B

As each input increases by 2, the output is 8.

Input Output

0 - 35
3 A 25
6 - 15
9 4 5

As each input increases by 3, the output
decreases by 10.

y-axis
X-axis
X-axis
A



pp- 382-383 #4-7, 10, 16

4- a-bn E J"IIL

0 =
e

012 3 45
Pints

-

Sample answer: y = 0.75x

=8

. Sample answer: 7.5 1b
e. Sample answer: $16.88

5. a. 7 \L\
45 1
40

BN

Hot chocolates
I

10 20 30 40 50 60 70 80 90 x
Temperature (°F)

b. Sample answer:
y=—0.5x+ 60

¢. Sample answer: The slope is
—0.5 and the y-intercept is 60.
So, you could predict that 60
hot chocolates are sold when
the temperature is 0°F, and the
sales decrease by about 1 hot
chocolate for every 2°F increase in
temperature.

d. 50 hot chocolates



6. a. YA [
—~ 350
w
300
250
200 ,/
150

100 /

W

0 I
01 2 3 45 6x
Hours

Distance (mile

b. Sample answer: y = 55x + 15
¢. 55 miles
d. 15 miles

e. Sample answer: 400 mi

7. no; There is no line that lies close to
most of the points.

10. See Taking Math Deeper.
16. D



pp- 390-391 #3-10, 14-17

3. total of females surveyed: 73;
total of males surveyed: 59

4. total of “no” participants: 52;
total of “yes” participants: 80

5. 51
30

7. 71 students are juniors;
75 students are seniors;
93 students are attending
the school play; 53 students are not
attending the
school play.

8. 78 people have limited cell phone
texting plans;
190 people have unlimited cell
phone texting plans; 253 people have
limited cell phone minutes; 15 people
have unlimited cell phone minutes.

9. a. 19;42

b. number of students surveyed:
72 6th-graders,
74 7th-graders,
65 8th-graders;
112 students chose grades, 40
students chose popularity, 59
students chose sports.

c. about 8.5%



10.

14,
15.

16.

17.

a. Age
20-29 | 3039 | 4049 | Total
3 Eg Yes | 14 | 27 | 25 | 66
Sz=S|No | 36 | 33 | 15 | 84
Total| 50 | 60 | 40 | 150
b. Age
20-29 | 30-39 | 40-49
3 §§ Yes | 28% | 45% |62.5%
Bm®|No | 72% | 55% |37.5%

¢. Yes, the table shows that as age increases,
people are more likely to have at least $1000

in savings.
y=3x+1
y=5x—2
1
— + 3
y=5*

B










A circle graph shows the relationship of parts to a whole. The circle is divided into sectors
which add up to 100%. The sectors are determined by the central angles, and the sum of all those
angles is 360°.

Bubblegum
Spearmint 30% Pepr mint
10% 10% This circle graph shows the favorite gum
flavor of 400 people. The sectors show
Cinnamon Fruit the percent who prefer each flavor.
25% 25%
orite = + T i r

Use the circle graph above to answer each question.

i. Which flavor is preferred by the most people? .

- How many people prefer spearmint? _
3. How many people prefer cinnamon?

%, Which flavor is preferred by the same number
of people who prefer cinnamon?

5. Which two flavors combined account for
exactly half of the people?

. How many people prefer bubblegum? —

«. What is the measure of the angle for the
peppermint sector of the graph? _

8. What is the measure of the angle for the
fruit sector of the graph?

9. What is the measure of the angle for the
bubblegum sector of the graph?







A stem-and-leaf plot is used to arrange data in order from least to greatest. It is displayed in
two columns. The right column shows the leaves—the ones digit of each number. The other digits
form the stems and are shown in the left column. The key explains how to read the plot.

Stem Leaves
Use the following data fo create a stem-and-leaf plot. 7 | 334
71,73,87,106, 95,73, 86, | 8 267
99, 104, 82, 93, 74, 101, 90 9 0359
10 I
Key: 7| | = 71
Create a stem-and-leaf plot for each set of data.
a b
I. 18,17,12,24, 17, 33, 21, 22, |4, 31, 122, 120, 135, 130, 48, 131, 142, 122,

30, 20, 16, 35 133, 143, 135, 132



pp. 397-399 #4-9, 11-14, 17, 20-23

4.

11.

12.

Sample answer: stem-and-leaf plot;
shows how data is distributed

Sample answer: line graph; shows
changes over time

Sample answer: dot plot; shows
the number of times each outcome
occurs

Sample answer: line graph; shows
changes over time

a. yes; The pictograph shows the
number of hours worked each
month using pictures.

b. yes; The bar graph shows the
number of hours worked each
month.

a. yes; The circle graph shows the
data as parts of the whole.

b. no; The bar graph shows the
number of students, not the
portion of students.

The pictures of the bikes are the
largest on Monday and the smallest
on Wednesday, which makes it seem
like

the distance is the same

each day.

The break in the scale for the vertical
axis makes it appear as though

there is a greater difference in sales
between months.



13.
14.

17.
20.
21.
22,
23.

The intervals are not the same size.

The widths of the bars are different,
so it looks like some months have
more rainfall.

Sample answer: dot plot

a. 4 b. 4.5
a. -9 b. —86
a. 12 b. 11.8

A



pp. 401-403 #1-11

1.

a. 2012
b. 225 geese

C. positive linear relationship

negative linear relationship; outlier:
(21, 40)

no relationship; cluster around (12,
16)

positive linear relationship; gap from
x=12tox =18

d. YA
700

(a0

GO0
230
500

450
400
350

Number of students

= -
1 2 3456 7 8 9 10x
Year

b. Sample answer:
y= l4x + 478

¢. Sample answer: The slope is 14
and the y-intercept is 478. So, the
number of students in the year
prior to the 10-year period was
about 478 and the number of
students is increasing by about 14
students per year.

d. 632 students



10.

11.

y=14.0x + 478.7,

The correlation

coefficient is about 1, which implies
that there is a strong positive linear
relationship between the year and
the number of students.

Food Court
Likes | Dislikes | Total
= Teenagers | 96 4 100
S | Adults 21 79 100
@ =
Senior
< | nce 18 82 100
Total 135 165 300
Food Court
Likes | Dislikes
= Teenagers | 96% 4%
S | Adults 21% | 79%
[- L] =
R 15% | 82%

Yes, the table shows that teenages
tend to like the food court, but adults
and senior citizens tend to dislike the

food court.

Sample answer: line graph; shows

changes over time

Sample answer: scatter plot; shows
the relationship between two data

sets




Name K E \/ Date

Chapter 9 Review

1) The scatter plot shows the number of geese that migrated to a park
each season.

a) In what year did 270 geese migrate?

2012 i
b) How many geese migrated in 20107 E o i
- 2 W
225 gees< i .l
¢) Describe the relationship shown by the data. Lo maé;:o g
pos i ve [incar re/lm‘g‘“i 2 Sia'lp
Describe the relationship between the data. Identify any outliers, gaps, or clusters.
2) ¥ . 3) ¥) 4y ¥ %
50 24 ” 80 {ru
50 ’”*’ge - 20 - % 50 B
40 16 Ay fr
30 w%# vz i - 30 “fwﬁ
20 : i 21 " 208 =
10 2L ] Blls 10
[ G i

0736 B 12 15 18 21 % 6360 IR 18 21 x

i Ne‘j"‘“}w“ﬁ - No mimhami«a{)
= Outliey CZIJ%\) ~ No outlier

— N0 ﬂapg | - N@ ijpf; |
—no cluslers ~ Clusker at(12)16)

9 3 6 212154821 x
~ Posidive
~No outhiers

~ Gop Emtwwﬂ Y“Valuﬁ
of 1218

~ No real clusters

5) You have been working on a science project for 8 months. Each month, you measured the length of a baby

alligator. The following table shows your measurements,

| September ]

[ Aptil

Month, x 0 1] 2 3 4 5

6 7

Length (in), y| 220 | 225 | 235 | 250 | 260 | 275 | 285 | 295




Use the following steps to predict the baby alligator’s length next September.

a) Graph the data in the table. \/

b) Draw aline that you think best approximates the
points.

¢) Write an equation for your line.

\j:ﬂ X+ 27

d) Use the equation to predict the baby alligator’s

length next September.
g3 inchs |

y= | (12) 412
6) An animal shelter opens in December. The table

Length (inches)

Y&
33

32

31

30

29

28

i

26

25

24
| Ve

o

23|74
222/

00123456?89101132

Month

= 124722
shows the number of cats adopted from the shelter
each month from January to September.

a) Make a scatter plot of the data and
draw a line of fit.

b) Write an equation of the line of fit. 19

yegui "

¢} Interpret the slope and the y- Is

intercept of the line of fit.

Slop-(’_ = U caks mla-p }w&

Ltiy 2 Wipaths

\/,‘M)(M—s; Y cals wert c\&up”u\

4'3 ﬁ&lap‘;fi

ba-fof-t;@r the 1% (J‘nJ( A
d)  Predict how many cats will be

4 Ca

adopted in October.

abait 20 oc 2\ Cﬂu\")




7) A class held an ice cream eating contest. The finalist scores are
shown in the bar graph.

a) How many scoops did John eat? -
L} ' g SCov F b

b) Whatis the average number of scoops eaten by the

finalists? _
Vo H54gE 3454 s yg
———.__-/______'_’ - 1
5 ¢

) a@cmjf g Scoops

¢) How many scoops did Amy eat compared to Juan?
Am% d’e 8/ &mw aj(f,' EEY ﬂmcf m‘/f’ 5 more 6'(:.0010 s

d) Whatis the median amount of scoops eaten?

e [us o
Awm

8) The following isa box-and-wh1skers chart of
ages of teachers at Young Middle School

a) What is the median age of the teachers? b) How old are the youngest and oldest teachers?
75 mj(:mrs GM E)t)l}mwﬂ(fsjf < ]8 0‘(1@5’%’ = 30

¢) What percent of the teachers are between d) Whatis the range of teachers ages”
22 and 29 years old? . ,
30-1§ =

509 @/3 per ﬁma{%“)

9)  Find the mean, median, mode, and range. If an answer is not a whole number, round to the nearest tenth.

KEFLVTEA,26,9, 10 O) )8y 1, Lf) ’7')‘8}101'29

RED Mg
;) Mode:@ o Range- 2( -0 3@




10) A family is making a monthly budget. Its total take-home pay for a month
is $2400.

a) What category had the most expenditures?

Food

b) How much money was budgeted for Rent?

25 %6 6¥ 72400 .
0-25 - 2400 = |B600.

¢) How much money was budgeted for Misc?
AR U]C 2400
0.2 <2400 ,l%oﬂf

d) IntheTircle graph, how many degrees is the sector of “Clothes"?

160 360
11) You randomly survey people at a il 3l i
like the new food court. The results are shown. 7'
5 %;& Tﬁ&l’iﬁg B2ys
Libe” —{oe likes, 4 dilikes .-
L ke Digluhf ’i‘ﬂ'}ﬁ) Adilits ';“"1
VPR W . i 2 i ﬂkﬁﬁmW
£ | feens 16 4 L1 i aaa—
) Senior Citizens |
& Adults 21 14 1100 1 likes, 82 dislikes
total [ 24 |
teted ) 135 65 {300 ]

a) Make a two-way table that includes the marginal frequencies.

b) Find and interpret the marginal frequencies for the survey.

- IOO ‘1’65’—1"‘3 : A{WHS OLVW? sev f(?r (}l{'lZQWS A l’l WL SU\TV{’&{OJ

~ 138 wdm\-{ 31&7’\/(“]'(’«1 [vhed 4he pooo‘ ¢ oy ]
- 165 nfﬂsﬂff .,J(Arv‘{bf«(i{ l\A Y)rﬁ h{ pﬂﬂfi COVW‘.}

|
- 200 Pm‘p/e R4 ‘Sb’l‘FV‘fb}fPJ? ‘01"@




pp- 636-637 #3-18, 27-30

10.
11.
12.
13.
14.

15.
16.

17.

18.

27.

© 0 N OV AW

8

4 ways; 4 ways
1,2,3,456,7,8,9

6

&k 61y k)
6,7,8,9
1,3

1,2
3,6,9

a.

w

T 9 9 T O W

2ways b. blue, blue

. 1 way b. green

. 2ways

. purple, purple

1 way b. yellow
6 ways

. yellow, green, blue, blue, purple,

purple

. 7 'ways

. red, red, red, purple, purple,

green, yellow

There are 7 marbles that are not
purple, even though there are only
4 colors. Choosing not purple could
be red, red, red, blue, blue, green, or
yellow,

x=2



28. n =21
29. w=12
30. b=168



pp. 642-643 #4-9, 11-17, 21, 23-27

4.

11.

12.

13.

14.

15.
16.

17.
21.
23.

o 0 N oo

Spinner B; There are more chances to
land on “Down” with Spinner B.

either; Both spinners have the
same number of chances to land on
“Forward.”

likely
impossible
certain

unlikely

o wla Zlo aim 3|~

The student found the probability of
choosing a blue shirt.;

P(notblue) = 6 _3
10 5

20
There are 2 combinations for each.

x < 4




24. b
&

25. w> -3;

(L

ket

26. g
i
27. C



pp. 649-651 #6-20, 24, 29

/ ,or 14%
0

6.

L=

7. 12 oras%
25

8. - or28%
25

9. 2L org4%
25

17

10. 0 or 34%

L=

11. 0, or 0%
12. = or15%
20

13. 45 tiles

14. 5 cards

15. -, or about 33.3%

LS|

16. —, or about 16.7%

3

Oy | =

17. -, or50%

'

2 | =

18. —, 0r50%

2| —

19. 1, or 100%
20. 0, 0r 0%

24. a. 3—, or about 44.4%

b. 5 males



29. a. L: 50 times
12

b. E; 132 times
50

¢. Alarger number of trials should result in a
more accurate probability, which gives a more
accurate prediction.



pp- 657-659 #6-13, 15-25, 31-33

6. Sample space:

Miniature golf 1 p.M.-3 pP.M.,
Miniature golf 6 p.M.—8 p.M.,
Laser tag 1 p.M.-3 P.M.,
Laser tag 6 p.M.—8 P.M.,
Roller skating 1 p.m.-3 P.M.,
Roller skating 6 p.M.—8 P.M.;
6 possible outcomes

7. Sample space: Realistic Lion, Realistic
Bear, Realistic Hawk, Realistic
Dragon, Cartoon Lion, Cartoon Bear,

Cartoon Hawk, Cartoon Dragon; 8
possible outcomes

8. 21
9. 20
10. 24
11. 60

12. Tree Diagram:

small
type 1 medium

large
small

type 2 medium

large
small

type 3 medium

VAW

large

Fundamental Counting Principle: 3 «3 =9



13.

15.

16.

17.

18.
19.

20.

21.

22,

23.

24,

The possible outcomes of each
question should be multiplied, not
added.

The correct answer is
2X2X2X2X2=32.

1

—, or 10%
10 or 10%
1

—, or20%
5

1, or 20%
5

0, or 0%

g, or 40%
5

3
1—[}, or 30%

1 3
—, 0r 5—%
18 £l

1, or lll%
9 9

1, or lll%
9 9

g, or22 E%
9 9



25. a. é, or about 11.1%

b. It increases the probability that
your

1
guesses are correct to 1;

or 25%, because you are only
choosing between 2 choices for
each question.

31. Sample answer: adjacent: ZXWY and
£ ZWY,
Z XWY and £ XWV; vertical: £ VWX
and 2 YWZ, /YWX and £ VWZ

32. Sample answer: adjacent: £ LJ/M and
Z1JK,
Z1LJM and Z NJM;
vertical: ZKJL and ZPJN, ZPJ(Q and
ZMJL

33. B



pp- 665-667 #3-13, 18-23

3. independent; The outcome of the
first roll does not affect the outcome
of the second roll.

4. dependent; Your friend’s lane
number cannot be the same as
your lane number. So, your friend’s
lane number depends on your lane

number.
1
5. 2
6. -
4
7. 2
8
3
8. -
1
9. —
10. L
14
11. 2
21
12. 2
7

13. The two events are dependent, so the
probability

1
of the second event is 3

=11
P(red and green) = 23 1



18.

19.

20.

21.

22,

23.

L, or about 0.62%
162

-

o
, Or ut 3.1
]62Dab0t3 %

;—[1], or about 12.3%

;—1, or about 4.9%

g—?, or about 24.7%

3

4



pp. 671 #1-15
1. 2

0

3. 4
3

4. —, or 30%
10

5. i, or 25%

6. §, or 75%
4
1. 0,or 0%

8. ]2—5, or about 13.3%
9. 11 orabout36.7%
" 30’ e

10. 2 or about 35.8%
120

11. 1, 0r 100%
12. 12
13. 8

14. % or 40%

15. — or10%
10



pp. 676-677 #5-15, 24

5.

10.
11.

12.
13.

biased; The sample is not selected at
random and is not representative of
the population because students in a
band class play a musical instrument.

unbiased; The sample is
representative of the population,
selected at random, and large enough
to provide accurate data.

biased; The sample is not
representative of the population
because people who go to a park are
more likely to think that the park
needs to be remodeled.

yes; The sample is representative of
the population, selected at random,
and large enough to provide accurate
data. So, the sample is unbiased and
the conclusion is valid.

no; The sample is not representative of the
population because people going to the baseball
stadium are more likely to support building a
new baseball stadium. So, the sample is biased
and the conclusion is not valid.

Sample B because it is a larger sample.
Sample A; it is representative of the
population.

696 students

sample; It is much easier

to collect sample data in

this situation.



14. A population because there are few
enough students in your homeroom
to not make the surveying difficult.

15. sample; It is much easier to collect sample data
in this situation.

24. A



1) 27,33,34,25,[37)39,u40, 4|, G

T (A
Q1= | dign B2 IGR=4DC-32C
=225 =406 =7

1%) (06, 127#20;, 122126, 13], 140, (6]

238+ -
W\edﬁd}’hg%&;_ 82= L’%‘io l &2;[‘3"3—- 128

= 12% =1235 =129

_127+129
Rl===—

5 10, 122, 163, 1b%, 183, 19) 21,2 14,2 L;%,TZ%%,Z%Z

R1='® ﬁlz*"lo'/q median= 20 R3= 26-&;28"5
= ‘b‘é— = Z']-‘Z

Pange=22-104= 21§ ->Thedistances haweled by +he paper

airplane Vary o rvre +than 2\ Feel:

|&R=27% - 1bs= | 1-5The middle hat of the distances
Haveled by He paper aii-planzvary by
ho more +han 11 feet

19) 21,5%,74, T2, 8|93 /102, Jog, b, 122,193
T T 0

N edian >
Range=192-21=172
IQR=11b-4=42
23) Wan___‘z-l—l'-f-l—zzm-v-lzc-;H+26+‘74-6+Ol __:l_'\og___ I

25) S=2(A-2D+2(4-2)4 2(AW=3L+b+T72= 124 w2 (D)



5) 22,2b,28,30,32,%5/35,42,45,49,50,b2.
T T T

o ys+u
RI=Z8220  yedign=35 Rz=t2

2

- =1

—{

| I WK T Y N W Y I LN
%l'l'l'

L l'17
2b 2w W So 6o 70

7)5,5,! o%no, 15, 15,]219,12 o,zs,%o/rao,%,eo

R1=P2 median  G2=32222°
=10 =30

13—

1 | 1\
i [ B B B R B

I 20 3 Y0 EO

AN The ertvr is thad the data should be ordered fromleast
1o greatest before Ainding he S-number summary (least,
R, median, B3, greatest) for +he boy- and-whisker plot.

N A. % because themedianis 5b0,so % +hedata is at least 5ob

1
~ 1

bb. More spread out abve becausethe right whisker ic
\ohger Hhan+he leFt.

c. |&@R=L00-U5D=16D
The middle hal of+he data varies pomore Hhan 150 gal.



pp. 404 (#1-7)

1.

a.
b.

C.

d.
. 48 students like nonfiction;

1960
about 250 million

There is a positive linear
relationship between year and
population.

YA
16 /l
|4

. .4

10
a

| 2 3 4 5 6x
Age (months)

Weight (pounds)

. Sample answer:

y=15x+7

The slope is 1.5 and the
y-intercept is 7. So, the baby is
gaining 1.5 pounds per month
and was born with a weight of 7
pounds.

17.5 pounds

22 students dislike nonfiction;
46 students like fiction;
24 students dislike fiction.

Sample answer: histogram; shows
frequencies of data values in intervals
of the same size



5. Sample answer: line graph; shows
how data change over time

6. y=19.9x + 1352.4; The correlation
coefficient is about 0.986. This
means that the relationship between
years and the numbers of students
taking the SAT is a strong positive
correlation and the equation closely
models the data.

7. Use reuseable bags?
Yes No Total
% Male 15 45 60
S |Female | 60 50 | 110
Total 75 95 170




pp. 687-691 #1-15, odd, 16-24

1.

10.

1.

1

T o T O

a. 2
b
a. 3
b.
a. 5
b

. 1 green, 1 purple
3 orange, 3 blue, 3 purple
. 1 green, 1 purple, 3 orange, 3 blue,
3 purple
3
. 2 blue, 2 orange, 2 green
8
. 1 green, 1 purple, 2 blue,

2 orange, 2 green, 3 orange, 3 blue,
3 purple

—_

D

. 1 green, 1 purple, 2 blue,

2 orange, 2 green

5, or 50%

E, or about 22.9%
35

%, or about 61.4%

57

, or about 81.4%
70

2

=, or40%
5



12. =, 0or25%

13. —, 0or37.5%

14. —, 0r62.5%

o oo |

15. -, orl12.5%

==

16. 12
17. 90

18. %,ﬂrlz.ﬁ%

19. %, or about 28.6%
20. ﬁ, or about 7.1%
21. ;—l,mabﬂutlﬁ.ﬂ%

22. i or about 4.8%

23. biased; The sample is not selected at
random and is not representative of
the population because
students in the biology
club like biology.



24. a. Class A:
median = 88, IQR = 6;
Class B:
median = 91, IQR = 9;
In general, Class B has greater
scores than Class A. Class A has
less variation than Class B.

b. The difference in the medians is
about 0.3 to 0.5 times the IQR.
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